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> > 

> > 

> > 

with(MolMod):

printpsi:=proc(fn::string,state::posint:=1,threshold::numeric:=.1,$)

global basis,psi;

local v;

basis:=map(sscanf,ReadLines(fn,"Configuration",s->TrimLeft(s)[1]<>"C",'shift'=0)," 

Configuration %d Symmetry %d %s"):

psi:=map(sscanf,remove(`=`,map(Trim,Split(Join(ReadLines(fn,sprintf("%d)     

EIGENVALUE",state),s->s[..3]="   ")),"(")),""),"%d)%f"):

for v in psi while (abs(v[2])>threshold) do printf("%6.3f  %s %2d %3d\n",v[2],basis

[v[1]][3],basis[v[1]][2],v[1]) end; 

end:

ESTexp:=7918.1*icm2eV;

E1:=ReadValue("CASsto.out","EIGENVALUE",'format'="%f")*hartree2eV;

E2:=ReadValue("CASsto_triplet.out","EIGENVALUE",'format'="%f")*hartree2eV;

E2-E1;

printpsi("CASsto.out");

 0.780  11111ab0  2   2

 0.390  11111010  1   3

-0.390  11111100  1   1

-0.193  111ab110  2  17

E1:=ReadValue("CASc3.out","EIGENVALUE",'format'="%f")*hartree2eV;

E2:=ReadValue("CASc3_triplet.out","EIGENVALUE",'format'="%f")*hartree2eV;

E2-E1;

E1:=ReadValue("XMCQDPT2c3.out"," E(MP2)=",'format'="%f")*hartree2eV;

E2:=ReadValue("XMCQDPT2c3_triplet.out"," E(MP2)=",'format'="%f")*hartree2eV;

E2-E1;

Excited singlet
E1:=ReadValue("CASsto_exc1.out","1)     EIGENVALUE",'format'="%f")*hartree2eV;  

printpsi("CASsto_exc1.out",1);

E2:=ReadValue("CASsto_exc1.out","2)     EIGENVALUE",'format'="%f")*hartree2eV;  

printpsi("CASsto_exc1.out",2);

E2-E1;

 0.956  11111ab0  2   2

-0.237  111ab110  2  17

 0.668  11111100  1   1

 0.668  11111010  1   3

-0.191  11110110  1  10

-0.191  11101110  1  26
0.556201

Calculations
SSH[Setup]("skoltech");

#SSH[pbsnodes](): SSH[qstat](): SSH[pbsreports]():


